116" Eigenvector

N, = 4 s=0 mg =20

Irred. Representation : I's;

Eue = —J+U+10W + (M + sin (91)> VAL
V3
[W116) = [4,0,0,T'37)
Chi6,1 (]0022) + |0220) + [2002) + [2200))
C1i6,2 (10202) + |2020))
Ch16,3 (|02du) — |02ud) + |0du2) — |0ud2) + [20du) — |20ud) + |2du0) — |2ud0)
+ |d02u) + |d20u) + |du02) + |du20) — [u02d) — |u20d) — |ud02) — |ud20))
Chi6.4 (|0d2u) — [0u2d) + |2d0u) — |2u0d) + |dOu2) + |d2u0) — |u0d2) — [u2d0))
+  Chies ([dduu) — |duud) — [uddu) + |uudd))

+ + |

_|_

Cii6-1 = @
13 .
+ (gt (\/§(U —2W) + (cos (61) + /3 sin (91)) \/A_l))
ooy = 2IED)
B V3

+ <_§t (\/g(U —2W) + (cos (1) + V/3sin (91)) \/A_1)>
J?2+2(U —2W)J + U?
_ W

+ (% (12V3(J + U = W)W + (=3 cos (201) + 3sin (201) + 2V/3) Al))

Cii6-3 =



Ci16-4

C116-5

Ni1s

J24+2(U —2W)J + U?
2V/3
+ (55 ((VBoos (21) = 3sin (201) ~ 21/3) Ay = 12V3(J + U = )W) )

V3t(J + U)
+ (t (\/§(U —2W) — (COS (61) + \/§sin(01)) \/A_l))

\/401216,1 + 201216,2 + 1601216,3 + 801216,4 + 401216,5




